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QUESTION 1

What type of large object (LOB) is used to store LOB data together with the formatted rows on data pages, instead of in
a separate LOB storage object? 

A. inline 

B. binary 

C. internal 

D. partitioned 

Correct Answer: A 

 

QUESTION 2

User USER1 holds both DBADM and SECADM authority and you want to separate database administration activities
from security administration tasks. What authority must you have in order to revoke SECADM authority from user
USER1 and assign it to someone else? 

A. DBADM 

B. DBCTRL 

C. SECADM 

D. DBMAINT 

Correct Answer: C 

 

QUESTION 3

Which type of table should you use if you want to define specific time periods when data is valid? 

A. Materialized query table 

B. System-period temporal table 

C. Declared global temporary table 

D. Application-period temporal table 

Correct Answer: D 

 

QUESTION 4

Which command is used to back out a subset of database changes that have been made within a unit of work? 
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A. COMMIT 

B. ROLLBACK 

C. COMMIT TO SAVEPOINT 

D. ROLLBACK TO SAVEPOINT 

Correct Answer: D 

 

QUESTION 5

Which DB2 object is used to provide a logical grouping of other database objects? 

A. Alias 

B. Index 

C. Schema 

D. Collection 

Correct Answer: C 
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